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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.
Learners are required to answer two (02) questions
only.
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Describe the causes and impact of biological disaster.
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Discuss the causes and consequences of oil fire.
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Explain chemical disaster and its impact on human
health.
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Explain the water pollution.
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Note : Section ‘B’ contains eight (08) short answer type

qre :

1.

questions of four (04) marks each. Learners are
required to answer four (04) questions only.
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Aiir accidents and mitigation.
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Causes and impacts of road accidents.
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Biological disaster.
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Disaster preparedness.
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Causes of coal fire.
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Deforestation.
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Sea accidents.
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Man-made disaster.
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Note : Section ‘C’ contains ten (10) objective type

questions of half (%) mark each. All the questions of
this Section are compulsory.
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Answer in one sentence :
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Global warming.
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2. Hazards.
IR |
3. Disaster response.
MUaT Tfshar |
4. Nuclear disaster.
DY JATIST |
5. Forest fire.
T 31 |
Indicate whether the following are True or False :
3 @iy for e 9 € a1 o
6. Global warming takes place because of ozone

depletion.
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7. Coal fire takes place due to the natural factors.
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8. Biological disaster is man-made disaster.
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9. Afforestation affects global climate.
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10. Industrial wastes pollute air and water.
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